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1. Qwjwuwnwuh  Cwupwwbnneiut  whnwlwu  pngbh  dhongubiph  hwyyhu
hpwlwuwgynn qunwiubph nbwpnid
Muwwndhpwunntt - «wjwunwtp wqgquihtu wpfuhd» MNUY
(pun pnigbitnwht dwiuubiph gqlipwwnbuswwu nwuwlwpgdwl)
Opwghpp - 01
Uudwunudp - <wughuwn, dpwynyp L Ypnu
Pwdhtu 08, funuwp 02, nwu 04, dpwghp 01
(puwn pjnigbitnwht dwiuubiph gnpdwnuwyw nwuwlwpgdwl)
Sudwl wnwpluwih wudwunip Qudwu dup (pu- | Quwithdwu Uhwynpp Cunwdbup | Rwuwyp
Uhgwtghy Ynnp' Uuywunwdp pwgwlywngp) | dhwynpp ghup dwtuubipp
pun CPV nwuw- (npwd)
Ywpgdwu
1 2 3 4 5 6 7/
unruue
30192744 eNLNR (INLuwwwwn- Cpowtwlwihu nnth 2000 1134000 567
Stuwhwudwu b hwdwdwjuwagnh
wwwnbbuwhwudwu dhongny gunud
U4 $npdwwn) Yuwwnwpbint
pupwgwyuwng
30192160 oinphfuttin - i huwin 250 25000 100
30197110 Ywphsh dEwnwnw)w- - wintth 150 30000 200
nb Yuwbn (kanaato
2416-1m)
39264000 buybip - hwtn 10 20000 2000
30199232 Spwp dbd hwwn 80 120000 1500
22991110 [nWgpwpnLR -y Yag 700 280000 400
30197610 unjuinwntnpe 4y npwy 240000 240000 «1»
(1500q/pd)
30197610 uinjuwpwpnine (fupn- =y npwd 51000 51000 «I»
dbipqug)
09132200 pbught nbgnijwn s thunp 430 761100 1770
cLHuUELL 2661100
ounu3nh-
@3NhLLEN
6521000 quq (Shusl 10000 Pwtwlguwhl npw 17302272 17302272 «I»
fud) pUpwgwluwing
65311100 Elbyunpwlwunteywu y- npwd 35067900 35067900 «1»
pwptunup
64211110 hwUupwjhu htnwfun- S npwd 2937600 2937600 «I»

uwihu dwnwjnipintu




1 | 2 | 3 | 4 ] 5 | 6 7
64211130 dhgpwnwpwjht hb- - npwd 1716000 1716000 «l»
nwfunuwjht dwnw-
JniRjnLU
64111200 thnuwnwjht dwnwjnt- =" npwy 336000 336000 «I»
pInuutn Yuwywsd
uwdwlyubiph htiin
64227140 «Or].—bnuhp» htinwhw- = rmwd 180000 180000 «I»
nnpnwlygniejwu dw-
nwjnijntl (huwnbip-
ubin)
65110000 oph pwotunid =" npwd 936000 936000 «I»
75241200 nuinhywuntpjwu dw- -1- npwd 480000 480000 «I»
nwjnipjniuubp
(2buptiph
ohunigyniuutiph
wwhuwwuntpintu)
90511150 wnph thnfuwnpdwu - npwd 111700 111700 «I»
dwnwjnipniutbip
90671100 wnpwhwidw b - npwd 270000 270000 «l»
dwlwpnydutiph
nsuswgiwl Swnw-
Jnupntuubip
(ntinwwnhqughw)
cLuvLELe 59337472
cLacULNh, 61998572
2. Uj| dhongubiph hwoyht hpwlwuwgynn qunidubph nbwpnid
Muwwnyhpwunntt - «<wjwunwuh wggquihtu wpfuhy» MNUY
Opwghpp - 01
Uujwunwdp - wpfuhywjht dwnwjnigjniuubp
Pwdht 08, funwip 02, nwu 04, dpwghp 01 (phtwluwynpdwu wnpjnipp)
Sudwu wnwpluwih wudwunwp Qudwu dup (pu- | Quihdwu Uhwynph Cunwdtup | Lwuwlyp
Uhguwghy Ynnp’ Utygwunuip rwgwlwngp) | dhwynpp ghup dwfuutinp
puin CPV nwuw- (npwd)
Ywpguiwl
1 2 3 4 5 6 7
umnruvevsr
39831242 &tinph own Cpowlwlwihu hwwn 280 5800 200
hwdwdwjuwgph
dhongny gunud
Juwnwpbnt
pUpwgwlwng
39513200 ubinwuh wudbnnghly -0y hwuwn 120 6000 50
30192210 ulyns (huptwluwsniu S hwun 200 8000 40
dwwwybiu)
39831100 wwwyh Ywbwnt = nnwd 4500 4500 «1»
dhong
39831240 dwppnn thnoh =557 npwu 26000 26000 «I»
39831247 gnigwpwl dwppnn -1- npwd 21000 21000 «I»
htinnwy
31221200 kL. ywpnwy = hwun 650 32500 50
31211190 k. wugwinhy -0 hwn 650 29250 45
31221280 Gplwpwgdwu jwp - hwwn 20000 20000 «I»
(tinwpwtuphs) 4
wnbinwlng




| 2 3 4 5 ] 6 7
31221280 Epywpwgdwu (wp - hwuwn 14000 14000 «I»
(Gnwpwfuphy) 3
wnbinwlng
31321130 Elyuwnpwlywu jwp - dbiwnp 38000 38000 «I»
duwintfu 2x1.5°
31321130 blEyunpwlywy jwp S dbwnp 45000 45000 «l»
dwiniu 2x4°
24911200 unuudnn Ujnuptip < Ua 1000 32000 32
(Ednyupw (MYU
hunwn(hutip)
24911200 unuldnn Ujniebip -)- Yag 750 180000 240
(Ednyupw (MUU
hunwnihdtin)
37821100 ulwpswlwu Ypsdhu -y hww 500 25000 50
30192744 enLnR ((Ntuwwwn- i winth 2000 306000 153
Shuwhwudwu U4
$npduwn)
30197610 unjwpwpntnp o npwd 1600000 1600000 «1»
(1800g/pu)
30197610 unjwpwpninp " npwd 720000 720000 «1»
((hntiphl RRjw)
«anUl{hUhéh»
19251100 anpdywdp Yunpubip S npwy 425000 425000 «I»
(hntaht
qnp&ywdpwiht)
30197610 pnine (npqug) =" npwd 75000 75000 «I»
44111413 jninwiubipy - ug 1850 203500 110
44111414 |wnbipu 5 ug 750 206250 275
44111413 opwhkdnyuhw -y Ve 500 69000 138
44921500 Stthwdwshy' o npwd 180000 180000 «I»
ghyuwihl
44921800 onpwqgw)ntl dwdnty i npuwd 264000 264000 «I»
(Stthwdwsdhly
huwdSwht)
44111710 uwihy, Yepwdhlwywu S u? 6000 1020000 170
hwwnwlh hwdwp (Jenwlu
441121160 4End hwwnwlubip 5 npwd 800000 800000 «1»
(jwdhUwn)
44112160 (wihuwwh wwynhp <44 npwd 41600 41600 «1»
(qnujuw)
4423670 wwuwndwuuwjt Gnnbp i npwd 103200 103200 «l»
(Wihunntu)
44911500 wywqupun (Yuwnywn npwd 75000 75000 «I»
wywqg dwnuwd)
44111200 gbidbuwn i npwd 270000 270000 «I»
44531100 wwnnunwly 5 npwd 1500 1500 «1»
44531100 wununwy (nynwyby)) i npwd 5000 5000 «1»
30192210 huptwlwgsniu 5 hwn 500 5000 10
dwywybl (enrehg)
44192100 wn hEphjwhu gwug S npwd 10000 10000 «I»
dwpbipp |gubipnt
hwdwp
44192700 Ubpywgjwuply (Jwihy) )" hwuwn 2200 28600 13
44192800 dnéhu - hwn 500 6500 13
Ubpywpwpwlwu
44111421 gniuwunip (Ynikiwn) o hwwn 1000 10000 10
24911400 unuhud (dbwnwlup) e ug 150 165000 1100
44192400 ghwunthwn -)," e 150 7500 50




1 | 3 3 4 | 5 6 7
44192400 [nnnghwu . Le! 200 10000 5
44192400 quye " Ug 50 26000 520
44831500 (nwdhs 0" npuwd 48000 48000 «1»
44192100 hnywpnine -, npwd 30000 30000 «1»
44921500 thwjunh Stithwdwdhy npwd 10000 10000 «1»
44521120 nnwi hwlwtubp =" npwd 60000 60000 «I»
31521500 wnwuinwnh [nLuw- S npwd 200000 200000 «1»

Yynpdwt uwppbip
((nwdthnth 2
inbinwung)
19241400 obiptnwywpwgnyp =53 npwd 364000 364000 «I»
44411120 [Jwgwpwl -y npwd 50000 50000 «I»
31321130 L. dwintfu - npwd 15000 15000 «1»
39111160 wpennubp Pwuwlygwihu npwd 300000 300000 «1»
(YUhuwithwihniy) pUpwgwlwng
39121390 gpwubinut' 2-hu - hwwn 65000 325000 5
wwhwpwuh
33961300 qupudwt htnniyutip npwd 22000 22000 «1»
Ywd phdhwlwu
dowlynid (Swpdwihu)
[(ndnyp 40%
33141113 pd2yulwu pwughd " npwu 52000 52000 «I»
(dwpu)
33630000 glhghphu npwd 12000 12000 «»
19431600 Yuwpp ph| (pwdpwljw) -0 npwd 42000 42000 «1»
15612180 wynip pwndn Yupgh ug 650 32500 50
15612220 wynip pphudh =" npwd 24000 24000 «l»
30211220 ubinwuh hwdwywpaghs Cpowlwlwjhu npwd 9050000 9050000 «I»
hwdwdwjuwgph
dhongny gunud
Yuwnwpbint
pUpwgwlwng,
30216110 ulwubipubp hwdw- = npwd 1300000 1300000 «1»
Ywnghsttiph hwdwp
30231300 huynuiny Yunwdwp- - npwd 3300000 3300000 «I»
Ynn hwppe wwbjwhu
Eypwuubip
30232110 |wgbipwiht wwhsubip npwd 2400000 2400000 «I»
30237411 hwdwlwngswihu npwd 360000 360000 «l»
dyupy
30237460 hwdwlwpgswihu =i npwd 360000 360000 «l»
uwnbnuwownbip
30237270 £l uunigdwl uwpp -10" nnwu 1625000 1625000 «I»
wwpwaguwubip (UPS)
30239100 wwwndbuwhwudwu hwwn 100000 1000000 10
dbpbuw
30234400 nwunwnl uywldwnwy e hwwn 400 120000 300
(DVD)
09132200 pbught nbgniywp -y hup 430 528900 1230
LLHUULLL 28751100
TUNU3Nh@3NhL-
Luer
79821170 nywagpwlywu b wnwp- | Cpowlwlwjhu npwd 4500000 4500000 «I»
dwl dwnwjnigynituubn | hwdwdwjuwagph
(«Pwupbip <wjwuwnwup | dhongny quntd
wpfupyUinhy, qnptimns | Guinwnbine
unwlnwnn prpwWww- | pupwgwlung

uwlubp )




2

50711100

obupnud inbnwwjJws
ElEywnpwlwl uwppbiph
U wwhwwudwu
Swnwjnygniutbip

(Ybpbjwyutip)

npwy

88000

88000

((] »

50610000

wuynwugniejwl
uwnpbiph Yipwunpng-
dwu b wwh-
wwuntjwl Swnw-
Jnipniuubip (wgnw-
Upwuwjhtu b ququihu
hpnbhwdwpnn hwdw-
Yunqgtiph
uywuwnpynu
wwhwwunud)

nnwu

960000

960000

((1 »

50711200

obuptipnud inbinw-
nnwd dbfuwuhlw-
Ywl uwppbiph Jbpw-
unpngnwd b wywhujw-
unu (wpfuhywyht
nwpwlwownbiph
uwnptipnh b uwppw-
ynpnulubiph uwywuwip-
Ynid)

nnwd

8307432

8307432

«I»

65110000

onh pwpfunud

Pwuwygwjhu
pupwgwywng

nnwu

100000

100000

«T»

64211110

hwupwjhu htnwfun-
uwihtu dwnwjnipinlu

nnwu

1728000

1728000

«1»

64211130

dhopwnwpuwjhu hb-
nwiunuwjht dwnw-
Jniyntu

nnwd

1200000

1200000

«1»

64111200

thnuinwhu
dwnuwjnieniuubp

Yy

npwd

1000000

1000000

((1 »

64227140

«on-tipyhp htinw-

hwnnpnwlgnipjw»
Swnwjnipniu

npwd

72000

72000

«1 »

50110000

wywnndbpbuwubph b
hwpwlhg uwppbiph
dbpwunpngiwt b
wwhwwudwlu
Swnuwjnipniulbip

npwd

560000

560000

«I»

cLHuULLe

19307432

cLAcULNrE

48058532

cLHUELE MES-
P3Nh2GL b4 U3L
UbhRN3LEMh
<Uc4hlL

110057104




